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Name: 

Daily Word Problem

answer: ____________________

2 0 0 3 6 6

A-76

Lola had 18 toy dolls.

She lost 3 dolls.

How many dolls did Lola have left?
Show your work.



Name: 

Daily Word Problem
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answer: ____________________

2 0 0 3 6 6

Todd is counting by tens. 
He starts at 35.

He says 35, 45, 55, 75, 85.

What number did Todd skip?
Show your work.

A-77



Name: 

Daily Word Problem
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answer: ____________________

A-78

2 0 0 3 6 6

We go to the zoo.

We see 3 bears.

We see 5 lions.

We see 7 monkeys.

How many animals do we see in all?
Show your work.



Name: 

Daily Word Problem
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answer: ____________________

A-79

2 0 0 3 6 6

Mom went to 23 cities.

Dad went to 26 cities.

Who went to the most cities?
Show your work using a >, <, or = sign.

_____             _____



Name: 

Daily Word Problem
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A-80

answer: ____________________

2 0 0 3 6 6

Three kids have 16 pieces of candy 
in all.

Ron has 6 pieces of candy.

Sam has 3 pieces of candy.

How many pieces of candy does 
Jane have?

Show your work.



16 -- 6 = 10
10 -- 3 = 7

Daily Word Problem

ANSWERSA-76 through A-80
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answer: ____________________

Three kids have 16 pieces of candy 
in all.

Ron has 6 pieces of candy.

Sam has 3 pieces of candy.

How many pieces of candy does 
Jane have?

Show your work.

answer: ____________________

Mom went to 23 cities.

Dad went to 26 cities.

Who went to the most cities?
Show your work using a >, <, or = sign.

_____             _____

answer: ____________________

We go to the zoo.

We see 3 bears.

We see 5 lions.

We see 7 monkeys.

How many animals do we see in all?
Show your work.

answer: ____________________

Todd is counting by tens. 
He starts at 35.

He says 35, 45, 55, 75, 85.

What number did Todd skip?
Show your work.

answer: ____________________

Lola had 18 toy dolls.

She lost 3 dolls.

How many dolls did Lola have left?
Show your work.

6515 dolls 15 animals

7 pieces of candyDad

23 26<

18 -- 3 = 15
35, 45, 55, 65, 75, 85

3 + 5 + 7 = 15

6 + 3 = 9
or:

16 -- 9 = 7


